Stretching and Shrinking 3.3: Designing Under Constraints

Name: _____________________________	Date: ________________	Period: ______

Core Math Idea: How can you use scale factors to find missing side lengths?

1. Rectangles ABCD and EFGH are similar. Find the length of side AD. Explain how you found the length.          
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2. Triangles ABC and DEF are similar. Find the missing side lengths and angle measures. Explain.
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3. [image: ]Anya and Jalen disagree about whether the two figures below are similar. Do you agree with Anya or Jalen? Explain.





















4. Melanie and Wyatt discuss whether the two figures at the below are similar. Do you agree with Melanie or Wyatt? Explain.
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Melanie's Reasoning
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Wyatt's Reasoning

Rectangles € and F are similar. Rectangle F is 3 meters taller than Rectangle E
since 9 meters + 3 meters = 12 meters. Rectangle F is also 3 meters wider
than Rectangle E since 12 meters + 3 meters = 15 meters. Each dimension
of Rectangle F is 3 meters greater than the corresponding dimension of
Rectangle E, 5o the rectangles are similar.
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Anya’s Reasoning
The two rectangles are not similar.
The height of Rectangle D is almost
6 times the height of Rectangle C, but
the widths are almost the same. Similar
rectangles must have the same scale
factor for the base and the height.
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Jalen’s Reasoning
The two rectangles are similar. The
scale factor from C to D is 7. You
can multiply the short side of G (the
height) by to get 14 inches, which is the
shortside of D (the base). This scale
factor also works for the long sides of
the rectangles since 15 X
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Evan, Melanie, and Wyatt discuss whether
the two figures at the right are similar. Do
you agree with Evan, Melanie, or Wyatt?
Explain.
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